Tableaux des Puissances de Dix (B)

Multipliez le nombre de la rangée par celui de la colonne.

600 0,6 60 000 0,006

60

19

55

0,007 0,0007 70 0,07

29

18

89

57

67

0,007 70 000 70 700

89

32

45

67

25

30 000 0,3 3 000 0,03

85

76

36

33

86
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Tableaux des Puissances de Dix (B) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 600 0,6 60 000 0,006
60 36 000 36 3600000 0,36
19 11400 11,4 1140000 0,114
3 1800 1,8 180 000 0,018
55 33000 33 3300000 0,33
4 2400 2,4 240 000 0,024
X 0,007 0,0007 70 0,07
29 0,203 0,0203 2030 2,03
18 0,126 0,0126 1260 1,26
89 0,623 0,0623 6 230 6,23
57 0,399 0,0399 3990 3,99
67 0,469 0,0469 4 690 4,69
X 0,007 70 000 70 700
89 0,623 6230000 6230 62 300
32 0,224 2240000 2 240 22 400
45 0,315 3150 000 3150 31500
67 0,469 4690 000 4 690 46 900
25 0,175 1750000 1750 17 500
X 30 000 0,3 3 000 0,03
85 2550000 25,5 255000 2,55
76 2280000 22,8 228 000 2,28
36 1 080 000 10,8 108 000 1,08
33 990 000 9,9 99 000 0,99
86 2580000 25,8 258 000 2,58
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